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RADICACIÓN 

Problema 52: 

Simplificar 

(
𝑎ଶ௡ାଵ

𝑎௡ାଵ
)

ଵ
௡ · ඨ(

𝑎√𝑏

√𝑎𝑏
య )

ଷ
ଶ 

Solución Problema 52:  

(
𝑎ଶ௡ାଵ

𝑎௡ାଵ
)

ଵ
௡ · ඨ(

𝑎√𝑏

√𝑎𝑏
య )

ଷ
ଶ =  (

𝑎ଶ௡ · 𝑎

𝑎௡ · 𝑎
)

ଵ
௡ · ඨ(

𝑎√𝑏

√𝑎𝑏
య )

ଷ
ଶ =  (

𝑎ଶ௡

𝑎௡
)

ଵ
௡ · ඨ(

𝑎√𝑏

√𝑎𝑏
య )

ଷ
ଶ = 

=  ඨ
𝑎ଶ௡

𝑎௡

೙

· ඨ(
𝑎√𝑏

√𝑎𝑏
య )

ଷ
ଶ =

𝑎ଶ

𝑎
· ඨ(

𝑎√𝑏

√𝑎𝑏
య )

ଷ
ଶ = 𝑎 · (ඨ

𝑎√𝑏

√𝑎𝑏
య )

ଷ
ଶ = 𝑎 · ඩඨ(

𝑎√𝑏

√𝑎𝑏
య )ଷ = 

= 𝑎 · ඪඩ
𝑎ଷ(√𝑏)ଷ

(ඥ𝑎𝑏)య ଷ = 𝑎 · ඩඨ
𝑎ଷ(√𝑏)ଷ

𝑎𝑏
= 𝑎 · ඩඨ𝑎ଶ · 𝑎√𝑏 · 𝑏ଶ

𝑎𝑏
 

= 𝑎 · ඩඨ
𝑎ଶ · 𝑏√𝑏

𝑏
= 𝑎 · ඨට𝑎ଶ · √𝑏 = ඨ𝑎ଶට𝑎ଶ · √𝑏 = ඨට𝑎ସ · 𝑎ଶ · √𝑏 = 

= ට𝑎଺ · √𝑏
ర

=  ටඥ𝑎ଵଶ · 𝑏
ర

=  ඥ𝑎ଵଶ · 𝑏
ఴ

 

 

 

 

 

 


